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L(14%) A road is banked af an anj/e 8 with n,s/,ch to the hah’jauﬁ/ at :uﬁgre there [s a curye.
The radius of curvature is R. What is the maximum speed of the automobile jn order to keep in

track and et to slip outward 7 Assume Ehe friction coefficient between the tire of the

automobile ond the surface of khg road iS/.

(/i}%) A Moﬂke/\/ wrench /s Fi\/Utaﬂ‘( at one end and alloweol to swing 2% a physfca/ f?c)w/lllill”’?- 7
The period /s 095 and the pivot is 20 om from the ceater of gravit/. What s the raoius

of gymt-‘rm of the wrench obout an axis thruugh the pivet ?

Hivck) A system of ideal gas um(ergoeﬁ an adiabatic axpansion frem (h,V,)to (o, Vo),
H p=20 atm . V =tvoo 6m3; Vy = 2000 C-ma_- Y= 14, find the work, done 17)/ the ‘7’)5(:0»1.
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“(!U%) Severa) batteries of emf & and internal resistance b, £=1,2,~, M, are connected k
in parallel to form an electric source . Aw avlerna| vesister of Yesistanmce R s tonnectecl

t0 the terminais of the efectric source . Find the efectric current in the external Yesistor.

L(14ek) A coaxial cable composed of Two C}Iindnca/ Metallic Sheets of radi;i a ong b, a<b,

find the self - nductance per unit Itngéh of the cable.

IE9%) A frame of mass 200 gm , when suspended from « coil spring, is fourtol to Streteh
the spring [0 om. A lamp of putty of mass 200 gm i3 dropped from rest onto the frame 7
from & he:ght of 30w, The pully adhered to the frame and set in oscillation /Vejflctm?

the Wlijht of the opring Find the a_m‘o/;tude of oscillatron.

"(/é'%) L,‘th of Wave(exjth N s diffracted From a 5."715/@ shit of width b. Fiund the
angular ;nfexs."t'/ distribution fer the Fraunhofer diffraction pattern, Assume the

Centyal infexsit/ beinj I, .




